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⑫ ② (modified)

)[
A =(
Use A"to solve

T
-
(2x +y)



(3x - 3)

Multiply by A" to get

( )(z)
#

(Y) = (3) )(z)

(5) = (ii)
(5) = (s)

Sewer: x = "Is , y
= -4



E W③ (modified)

det (o)
= ( -2))i3) - 0 + (4)

st F

= - 2[( y)(3) - (2)(i) - 2[(5)(2) - (1))- 4)
=
-2[(4] - 2(4] =0
Does A have an inverse?



= <2 ,1,
is = ( 12)

(a) Show , are linearly independent
.

p + 25=

< (2, 17 + (( 1 ,
2) = 50, 07

(2 , 27
+ ( - ( ,2)

= 30 , 03
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24 - C

= O[c +2 = 0

(218F(2)



+M (021 %

)
-Rzf Rz
-> (641 % )
Gives:
② = 0

04 = - 2x = - 2(0) = 0

Thus
,
the only solution

to

a + 25 = 5

is = 0, = 0 .

Thus
,
,

are linearly independent.

So
, B

=[ ,5] is abasisa



:
Fi= (2 , 1) , B = 71 ,2)

aw2 ,- , 2 - 5
and the parallelogram

they make.

2 = 2(2 , 17

2 =<4 ,2)-
+
= - [- 1

, 2)
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-
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(c) B
=[, ] , = = <2, 1, 5= 1

, 2)

B is a basis by part

Cal⑪ Is B orthogonal ?

= isBothoraa
= (2)(- 1) + (1)(z)

= O

So
, Bie an Orthogonal

basis.

Borthogonal-
· Hall=+ (1) = 57)

11511=F2 = 55+

Need both Kall = 1 & 11511 =1
for i to be orthonormal.



So
, i is met or thonormal .

Usethe coordinate dot product

theorem to find [E]pW
L means: 's6where = <4 ,-2) B-coordinates

=(i) + (2)5
=(+
=(( +(
=-



So,=-
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Then, >

->

v = 2 - 3b
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